10%3-65+10-13 88-34+(396-3)
8% -3+ (ba0y
SO—065-13 <g<s~—”>+t+(o.62w
26.0 SY Y023l
(,,'yauo
ENEN] p5easag)eg
1% - 2y 2V L
15’“(6 2 =+ Xz ' 9\
) SN
,i_ 3¢ 'I&'°Jr ﬂ> = jg
2 Y v b°
|\ B ’) .
T3 (ﬁ u@) -2
-4 LN
I e <i5j _'55
NS > 9
EINECEN Y5IK ==
NN IR
150 ;@(50

10x3-65+10-13

October 03, 2016




October 03, 2016

\Yo
3‘4‘1‘5\\0\0\))3

3. (~s.73x(.z.% +19)-48 - ( 1)

(3% (-3)

2 ‘f"”‘\'m

ORI \o\",’«Q 3 S
p H



October 03, 2016

3

S 0 O
0.39!
OJ/.A‘Q%

@ex26-51 < C1)- 0.0y

(3D 15 409) ]

5 -3
2 =13
5 i
A
Tt
R0 Ty
0 =3 =g,
hre
Dijdn Piis g



October 03, 2016

Class / Homework
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5 (a,c)
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